[N of reco track vs normalized x? ] [N of associated (recoTosim) tracks vs normalized N of associated (recoToSim) looper tracks v normalized x*
L2 Eo R E R E e
g b P g g
5105k - 510 - = =
E- o S F 2 2
F .o = o 8 8
4. 10'F 5 =
10F E 10 E]
F 10°F
0 i 102
E 10°F
1022_ 10:_ 10
1= 1 :
e e 1 2 1} 2 .n]l” 1 B
51 < T ] N
@ 14 H 14 o l .
05f--reemmnnr- 0.5] - 0.5F - - t
Wm“"‘*""""‘wﬂ +++++‘+‘H ++++ ; J P, M+++”++H+++ ‘H‘+ Ay f, + :
Oz 46 8 10 12 14 16 18 20 % 2 4 6 8 10 12 14 16 18 20 Oz % 6 8 10 12 14 16 18 20 % 2 4 6 8 10 12 14 16 18 20
track x? track X2 track x? track x?
o or1000evE
FidZ3. 300RYUTLIER 10006yt |35
2] E 4] 1%} (%]
X | = x X X
& sk 8.5 8 .05 3
510 Es = 10°E 5 10k =
3 g . 2 2
= = 8
10° 10° st =
3
10° 10° prmmmmiees
102 i
i i 1
;1\H\\E;mmm”mm:u;u\
il 8 ! 2 8
3 3 3 3
o Y 14 4 o




	Contents
	Page 1


